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KCET 2016 MATHEMATICS QUESTION PAPER

1. The set A 4 elements and the set B has 5 7. If Xyzare all different and not equal to
elements then the number of injective
. 1+x 1 1
mappings that can be defined from A to B
is zero and| 1 14y 1 |=0then the
a) 144 b) 72 1 1 1+z
c) 60 d) 120 91 .
value of X"+ Yy~ +2z is equal to
2. Let f:R—>Rbe defined byf(x)=2x+6 a) Xyz b) x'yz”
which is a Bijective mapping then f‘l(x) c) —x-y-z d) -1
is g)i(ven by A 8. If A is any square matrix ofierder 3x 3 then
a) 5—3 b) 2x+6 |3A| is equal to
1
c) x-3 d) 6x+2 a) 3A b) §|A|
3. Let * be binary operation defined on R by c) 27| A| d) 9| A|
a+b
a*b b= TVa, b,e Rthen the operation
-1 i
* is 9. f y=g =) &x=e [tz‘lj then ﬂis
a) Commutative and Associative dx
b) Commutative but not Associative equalyto
c) Associative but not Commutative a) X b) -y
d) Neither Associative nor commutative y X
Yy —X
c) = d —
4. The value ofsin_l(cosa%zj ) X ) y
3 -3
a) on b) T 10. If
> > P 1| 1 1
- - sin™(7x) tan™| = cos™ (7x)tan
c) — d — Al X)I g1
10 10 2 fn S
sin‘l(—j cot™ (7x) sin‘l(—j—tan‘l(zrx)
5. If 3tan" X 4£cot™X = 7 then.x equal to X X
a) 0 b) 1 then A - B is equal to
¢ -1 d) 1/2 a) 1 b) O
1
6. The simplified form of c) 21 d) El
X X—
tan‘l(—j—tan‘l( y) is equal to dy
y X+y 11. If x¥ —e*Vthen d—is equal to
X
/4
a) 0 b) — log x i
4 a) _logx b) ex_
log(x—y) XY
c) — d)
2 log x 1 1
C) ———— d ————
(1+logx) y X-y
KCET-NEET Coaching Centre T.T.T ACADEMY www.tttacademics.com

3



12.

13.

14.

15.

16.

17.

18.

If A is a matrix of order mxnand b is a
matrix such that AB’ and B’ A are both
defined, the order of the matrix B is

a) mxm b) nxn

c) nxm d) mxn
e (1+x)dx

The value of I — 7 is equal to
cos’ (")

a) —cot(ex*)+c b) tan(e".x)-+c

o) tan(e*)+c d) cot(e*)+c

If x, y z are not equal and #0,#1the value

logx logy logz
of |log2x log2y log2x|is equal to
log3x log3y log3z
a) log(xyz) b) log(6xy z)
c) 0 d) log (X+y+2)
The  function f (X) = [X] where [X] the

greatest integer function, is continuous at
a) 1.5 b) 4
c1 d) -2

x (x2 tan~! X+ tan "X + 1)

e
The value of .[ dx is

x2+1
equal to

a) e tanx+c bjytan (e* ) +c

o) tan™*(x°)+c d) e™ % +¢

If2§.6:‘5‘.‘6‘then the angle of between

a &M'is
a) 30° b) 0°
c) 90° d) 60°

+ d
) then% is equal to

If x™My" =(x +y)(
Xty
Xy

c) 0 d)

b) Xy

X <
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19.

20.

21.

22.

23.

24.

25.

The general solution of cot0+tan0 =2 is

nrx n 7T Nz n 7T
a) 0=—+(-1) = D) 7+(—1) "

8
c) 0 =—+(-1) % d) 6=nr+(-1)" w8

7l4
The value of J.

—zl4
103
T
a) | —
( 4 j

c) 2

sin'® x.cos™ x dx is

- 101
) [ﬂ

d). 0

The length of latus rectum of the parabola
4y? +3x + 3y +14 0is
4

= b) 7
a) 3 )
c) 12 d) 3

4
6logx _ L5logx

The value of dx is equal to

e4logx _ e?;Iog X

3

2),0 b) X 4c
3
3 1
—+C d —+¢C
c) N ) »

The differential coefficient of log,, X with
respect to log,10is

a) 1 b) —(log,, x)2
2 x?
c) (log,10) d) 100

The slope of the tangent to the curve

X=t*+3t—-8,y=2t>-2t-5at the point
(2,—1)is
a) 22 b) 5
7 7
-6
- d) —
<) 5 ) .

The real part of (1-cos6 + i sin 6)7lis

a) i b) !
2 1+cos0

c) tang d) cotg

2 2
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26.

27.

28.

29.

30.

31.

32.

zl2 Sl nlOOO de

- is equal to

! sin*® x +¢0s'*® x

a) 1000 b) 1

oz 4 =
2 4

If 1+sin@+sin®f+........ upto w=23+4,
then 6=

a) = b) =
6 4
V4 T
c) — d) —
) 3 )
Iimwis equal to
x—0 X
a) 3 b) 1
c) 0 d) 2
If tan™ (X2 + y2) =a thend—y is equal to
dx
a =X b) Xy
0> d) -xy

The simplified form of i" +i"" +i"%+1"%is
a) 0 b)al

o -1 d) 1

The two curves X =8xy’+2=0and
3X’y-y* =2

a) Touch each other

b) Cut each otherat right angle
¢) Cutat angle n/3

d) Cut at angle n/4

The equation of the normal to the curve
y(l+ XZ)Z—XWhere the tangent crosses

X — axis is
a) 5x—-y-10=0 b) Xx-5y—-10=0
c) 5x+y+10=0 d) x+5y+10=0
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34. The solution for the differential equation

35.

36.

374

38.

39.

d—y+d—X=Ois

y 'y

a) l+1=c b) logx.logy =c
y X

c) Xy=cC d) Xx+y=c

The order and degree of the differential

3
2 < 2
equation 1+(3—yj +Sin(gj4 :ﬂ

X dx dx®
a) Order = 2 b) Order = 2
Degree = 3 Degtree = 4
c) Order = 2 d) Order =2
Degree = % Degree = not found

If 5 and 6 areunit vectors then what is the

angle betweéen 5 and Bfor\/I)—’ 5 - 6 to be
unit vector?
a) 30
c) 60’

b) 45°
d) 90°

Thesum of 1st n terms of the series
1% 12422 1242243
=+ +

1 1+2 1+2+3
n(n+2
) n+2 b (n+2)
3 3
n(n-2 n(n-2
4 n(0-2) o M0-2)
3 3
The 11t term in the expansion of

(H%j“ig

a) % b) %
o i <nﬁﬁ
Suppose 5+6+E:0,‘§‘=3,‘B‘:5,H=7,

then the angle between a&bis

33. The maximum value of(lj is a) 7 b) %
X
a) e b) €° o K d) L
1 1 e 3 4
)
€
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40.

41.

42.

43.

44.

If a=3b=4,c=5each one of ab&cis
perpendicular to the sum of the remaining
then ‘5 +b+ 6‘ is equal to
5 2
a) ——= b)
J2
c) 52

If the straight lines

NG
d) V5

2X+3y—3=0and
X+Kky+7=0are perpendicular, then the
value of k is

2 3
- -3

The rate of change of area of a circle with
respect to its radius at I =2cms is

a) 4 b) 27

c) 2 d) 4r

The value of tan % is equal to
1
a) 5 b)\/2 +1

1
d) 1-42
) ) 1-+2

Area lying between the eurves y° = 2Xand
y=Xis

2 . 1 :
a) 3 sq. units b) 3 sq. Units

= it QS it
C) — SJg. units — SJ. units
453 44
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46.

47.

48.

49.

50.

51.

The coefficient of variation of two
distributions are 60 and 70. The standard
deviation are 21 and 16 respectively, then
their mean is
a) 35

c) 28.25

b) 23
d) 22.85

Two cards are drawn at random from a
pack of 52 cards. The probability of these
two being “Aces” is

a) & b)
26 221
1 1

o) = a

. . V4
If sin™ x +sin 1y=5, thenx’is equal to

a) 1-y* b) y*
Q)0 d J1-y
8 ,

The value of j &dx is
2\/;+ 10 —-x

a) 10 b) O

)8 d) 3

The contra positive of the converse of the

statement “If x is a prime number then x

is odd” is

a) If x is not a prime number then x is odd

b) If x is not a odd number then xi is not a
prime number.

¢) If x is a prime number then it is not odd

d) If x is a prime number then x is not an
odd.

Two dice are thrown simultaneously, the
probability of obtaining a total score of 5
is

a) = b) =
7 17 18 12
45. If P(A(\B):—and P(B):—, where P 1 1
10 20 c) 9 d) 5
stands for probability then P(A| B) is
cos28 —sin26
equal to 52. If A=| and A+A" =1,
) 7 b) 17 sin26  cos26
a — —
8 20 Where I is the unit matrix of 2x2 A'is the
o 14 d) 1 transpose of A, then the value of fis equal
17 8 to
a) = b) Z
6 3
3
)« d) S
2
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53

54.

55.

3 1
If A{ 1 2} then A’ —-5Ais equal to
a) 1 b) - 1
c) 71 d)-71
The value of x if X(i+]+ k)is a unit vector
is
a) T b) /3
NR)
1
c) £3 d) £—
3

If x=2+3cosfand y=1-3sinfOrepresent
a circle then the Centre and radius is
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58.

59.

60.

If cosea,cosp,cosyare the direction
cosines of a vector a then
COS2a +C0S 2 +C0S 2y is equal to

a) 2 b) 3

c)-1 d) 0

The value of the sin1l +sin2’ +....+sin359°

is equal to
a)o b) 1
c)-1 d) 180

d
Integrating factor of X d—y —y=X"—3xis
X

a) (2’1)’9 b) (2,1)’3 a) X b) logx
1 c) — d) —x
c) (1,2),5 d) (-2,-1),3 X
56. The vector equation of the plane which is
at a distance of % from the origin and the
normal from the origin is 2?—3]+ kis
a) r.(2T—3]+R):3 b) r.(T—]+R):9
c) r.(7+2]):3 d) r.(27+§):3
S7. Find the co — ordinates/of the foot of the
perpendicular drawn ffom the originto the
plane 5y+8=0;
a) (0,—§,2) b) (OE,O)
5 5
. (ﬁ,o,oJ ) (o,_ﬁ,oj
25 5
ANSWER KEYS
1. (d) 2. (a) 3. (b) 4. (d) 5. (b) 6. (b) 7. (d) 8. (¢) 9. (b) 10. (d)
11.(c) | 12.(d) | 13.(b) | 14.(c) | 15. (a) 16.(a) | 17.(d) | 18.(d) 19. (b) 20. (d)
21.(d) | 22.(b) | 23.(b) | 24. (b) | 25. (a) 26.(d) | 27.(c) | 28. (¢ 29.(a) 30. (a)
31.(b) | 32.(8) | 33.(c) | 34.(c) | 35.(d) 36.(d) | 37.(b) | 38.(b) | 39. (g 40. (c)
41.(c) | 42.(d) | 43.(c) | 44.(a) | 45.(c) | 46.(a,d) | 47. (b) | 48.(a) | 49. (d) 50. (d)
Sl.(c) | 52.(a) | 53.(d) | 54.(a) | 55.(b) 56.(a) | 57.(d) | 58.(c) | 59. (a) 60. (c)
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